CLASS 12

DETERMINANTS

INTRODUCTION AND DETERMINANTS

EXERCISE

a+b+2c a b
The value of the determinant c b+c+2a b
c a c+a+2b

(A) 2(a+b+0) (B) 2(a+b + ¢)?2

(©)2(a+b+c)3 (D) (2a+ 2b + 2¢)3

a b ao.+b
b c ba+c|=0,thena, b, carein -
ao+b ba+c 0

(A) AP. (B) G.P.
(C) H.P. (D) None of these

b2+c?  a? a?

b> c*+a® b? |isequalto-
2 2 2 2

c c a“+b

(A) a2b2c2 (B) 2a2b2¢2

(C) 4a2b2c2 (D) None of these
a 5 p 3a 3b ¢

If |[b 10y 5|= 125, then |x 2y z|isequalto-
¢ 15z 15 p 5 5

(A) 25 (B) 50

(©) 75 (D) 100
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LA ¢ -b a?+2% ab+ch ca-ba
A =|-c A a |, thenthevalueof A'= |ab—ch b2+2®> bc+ar| is -
b —-a A ac+bxr bc—an c%+2

(A) 3 A (B) A2
(C) A3 (D) None of these
3% +k 4% 37434k
If [42+k 5% 4%2+4+k| =0, then the value of kis -
52+k 6° 5°+5+k
(A) 2 (B) 1
© -1 (D)0
0 (a-b)? (a-c)?

The determinant | _g)2 0 (b—c)?| is equal to -
(c-a)®> (c—h)? 0

(8) (a-b)2 (b- )2 (c-a)? (B)O
(C) 2(a-b)2 (b-c)2 (c-a)2 (D) None of these
1+sin?0  cos?0  4sin40

If0<0 <n/2and| sin®0 1+cos?® 4sin4d | =0 then 0 is equal to
sin?0  cos?’0  1+4sin40

(A) n/24, 571/24 (B) 5n/24, 7n/24
(C) 7n/24,117/24 (D) None of these
XC1 XCZ XC3

YCc, YC, 7YC;|isequalto-
ZCl Zc:2 Zc3

(A) xyz (x-y)(y -2)(z-X) (B) % x-y-2) (z-%

% x-Y)(¥ -2)(z-X) (D) None of these
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Q.10

X b b b
IfA1=1]a x b| and Ap = ‘;( x‘ then
a a x

(8) A1 =322 (B) = (A1) =342
© % (A1) =3A2 (D) None of these

ANSWER KEY
(©)2(a+b+c)3
(B) G.P.
(C) 4a2b2c2
(A) 25
(B) A2
(B)1
(©) 2(a-b)2 (b-c)? (c-a)?

(C) 7r/24, 11n/24

© -y -2)(z-x)

(© (81 =342




